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General Instructions :

Preparatory Course in Social Sciences (0SS-101)  Questions 1 - 50

(i)  This is an objective type question paper. Options for the correct answer must be marked
only in the OMR sheet. ,

(it) All questions are compulsory.
(iii) The question paper consists of 50 questions each of which carries one mark.

(iv) Each question has four alternatives, one of which is correct. erivté‘zv the Sl. No. of your
correct alternative/ answer below the corresponding question number in the OMR sheet
and then mark the rectangle for the same number in that column. If you find that none

of the given alternatives is correct, then write 0 and mark in column O.

(v) Do not waste time in reading the whole question paper. Go on so’lvirig queéiions one by
one. You may come back to the left out questions, if you have time at the end.
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1. The nature of science is
(1) observation
(2) measurement
(8) experimentation
(4) Al of the above

2. Dataand information which are collected first-hand are called -
(1) Secondary sources
(2) Primary sources
(3) Both Primary and Secondary sources
(4) None of the above . ’

3. In which society is Knowledge treated as a ‘pub_lic good’ ?
| (1) Peasant society ‘

(2) i\ndustrial society

(3) Knowledge society

(4) None of tfiev above

4. Who discovered the Steam. engine ?
(1) JamesWatt
(2) John Kay
(3) James Hargreaves
(4) None of the above

5. What are the features of the modern world ?
(1) Industrial society
(2) Nation-State -
3 Large scale urbanizatioi;
(4) All of the above

6. Who studied the problem of suicide in society ?
(1) Emile Durkheim
(2) Oscar Lewis
(3) Edmund Leach
(4) Karl Marx
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10.

11.

12,

Ayurveda is the study of
(1) Ancient Plants

(2) Ancient Medicine
(3) Hymns

(4) None of the above

Economics is the study of

(1) Demand-supply analysis
(2) Labour relations

(3) Agrarian relations

7(4) All of the above

The correct order of' the stages through which humankind is said to have passed
through is

(1) Hunting-gathering; Agrérian and Industrial
(2) Industrial; Agrarian and Hunting-gathering
(3) Agrarian; Hunting-gathering and Industrial
(4) Hunting-g}d‘thering; Industrial and Agrarian

The term ‘geniler’ refers to

(1) The assignment of social roles to males and females on the basis of their sex
(2) The assignment of social roles to females

(3) The assignment of social roles to males

(4) None of the above

The basic characteristic of governance is
(1) Accountability

(2) People’s participation

(3) Rule oflaw and transparency

(4) All of the above

The larger kin unit ‘Jana’ referred to in the later Vedic society is
(1) Clan (2) Tribe
(3) Community (4) None of the above
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13. In India, who can proclaim National Emergency ?

(D
(2)
(3)
4)

- €2)
3
)

President
Vice-President
Prime Minister

Governor

. 14. An indicator of affluence in the modern world is

W

Greater availability of food

Increase in the size of the “middle class”
Increase in literacy

All of the above

15. Kautilya authored the famous treatise named

1)
(2)
3)
4)

Saravali

Arthashastra
Atharva Veda
Mahabharata

16. Due to the colonial rule, there were changes in

(1)
(2)
3
4)

Education system

Agriculture
Railways and Industry

All of the above

17. The Indian National Army was led by the support of

(1
(2)
3)
4)

Shaheed Bhagat Singh
Mahatma Gandhi
Subhas Chandra Bose
Jagdish Chandra Bose

18. Oscar Lewis has given the concept of

(D
(2)
3)
(4)
0SS-101

Poverty of Culture
Culture of Poverty
Cultural Relativism

None of the above
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19. Mian Tansen composed the famous
(1) Raga Senani
(2) Shahi Raga
(3) Raga Darbari
(4) Raga Mughaliya

20. This Bhakti Saint’s compositions gave a further boost to Bengali :
(1) Mirabai
(2) Guru Nanak
(3) Kabir
(4) Chaitanya Mahaprabhu

21. Vrindavan is an example of a famous
(1) Crafts town
(2) Temple towh
(3) Pilgrimage town
(4) Capital town

22.  Who built the Grand Trunk Road ?
(1) Akbar
(2) Sher Shah
(3) Humayun
(4) - None of the above

23. The first ruler of the Slave Dynasty was
(1) Muhammad Ghori
(2) Ala-ud-din Khalji
(3) Raziya Sultan
(4) Qutb-ud-din Aibak

24. During the Sultanate period, the nobles were given land grants called
(1) Jagirs
(2) Iqtas
(83) Mansabs
~ (4) Zamin
0SS-101 10
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25.

26'

27.

28.

29.

30.

0ss-101

Who has introduced the concept of Sanskritization ?

(D
(2)
(3)
(4)

M.N. Srinivas
A.R. Desai
S.C. Dube

None of the above

Which of the following communities is associated with Matrilineal system ?

(D
(2)
(3
4)

Nagas
Bhils
Khonds
Khasis

Article 356 of the Constitution of India pertairis to

(1)
(2)
3)
(4)

Declaration of Emergency
President’s Rule

Curfew Orders

Death Penalty

Which of the following terms is in the Preamble of the Indian Constitution ?

(D
(2)
3)
(4)

Socialist
Secular
Democratic

All of the above

The Constitution of India is based on the ideals of

(D
(2)
(3
4)

Oligarchy
Kingship
Democracy

Militarism

Ecosystem is made up of

(1)
(2)
3)
4)

A combination of all living and non-living elements in an area
Living elements \
Non-Living elements
None of the above
12
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31. Universal adult franchise gives the Right to
(1) Education (2) Vote
(3) Employment _ "~ (4) Migration

32. Public Administration branched out of
(1) Economics
(2) Political Science
(3) Psychology
(4) Sociology

33. The 73" Constitutional Amendment Act referred to .
‘ (1) Urban Governance ’

(2) Rural Governance

(3) Both (1) and (2)

(4) None of the above

34. Polygyny refers to
(1) A woman marrying more than one man
(2) A man marrying more than one woman
3 One»mavn marrying one woman

(4) None of the above

85. The representatives of Block Samiti and other members who work at the district level
make up the ’ ‘

(1) Panchayati Raj
(2) Zila Parishad

RO

(3) Gram Panchayat
(4) State

386. The New Economic Policy which introduced liberalization, was launched in the year
(1) 1981 (2) 1990
(3) 1991 (4) 2001

37. Manufactuﬁng is an examplé of which type of occupation ? o
(1) “Tertiary - (2) Primary s
(3) Secondary (4) Basic o a
088-101 . 14 |
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38.

39.

40.

41.

42,

430

The members of Gram Panchayat are chosen by the
(1) Village elders

(2) Process of election

(3) Men of the village

(4) Process of nomination

‘Perestroika’ is associated with
(1) Lenin

(2) Yeltsin

(3) Gorbachev

(4) Putin

The Varnas were based on

(1) Height
(2) Colour
(3) Religion
(4) Birth

Agricultural production increased due to an increased use of which tools ?

(1) Ceramic

(2) Iron
(3) Copper
(4) Bronze

Indika was written by
(1) Kautilya

(2) Megasthenes

(3) Kanishka

(4) Rudradaman

Air pollution is a result of which of the following activities ?
(1) Mining

(2) Burning fuel wood

(3) Driving vehicles

(4) All of the above
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'45.

46.

47.

48.

49.

50.

The Non-Cooperation Movement was initiated by
(1) Dr. Rajendra Prasad

(2) Mahatma Gandhi

(3) Jawaharlal Nehru

(4) Indira Gandhi

The term of the Lok Sabha is
(1) Six years

(2) Three years

(3) Five years

(4) None of the above

The Jajmani system implies that castes are
(1) Independent

(2) Interdependent

(8) Cohesive units

(4) Vocational groups

The headquarter of the World Trade Organization (WTO) is located in
(1) Switzerland (2) India
(3) China (4) Pakistan

The Council of Ministers is collectively responsible to the
(1) Rajya Sabha

(2) President

(3) Lok Sabha -

(4) None of the above

Greenhouse effect results in
(1) Increase in oxygen

(2) Environmental cooling
(3) Global warming

(4) Rise in population

.Social discrimination is on the basis of

(1) Class , (2) Race
(3) Caste (4) All of the above
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